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According to Ebbinghaus rate of
forgetting is more immediately
afters..........

(1) 20 minutes of learning

(2) 2 days of learning

(3) 6 days of learning

(4) 31 days of learning
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Development of the individual
depends upon the interrelationship
of the following :

(a) Physical

(b) Cognitive

(c) Emotional

1) (a), (b)

(2) (b), (c)

3) (), (a)

(4) (a), (b) and (c)
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(a) &rox

b) ey
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3 (), (a)

(4) (a), (b) o0a (c)

3.

Sustenance of motivations is more
1n this type of motivation.

(1) Extrinsic

(2) Intrinsic

(3) External

(4) Unrealistic

B850 [D5ead’, (Hoes % oo O
&osoh.

(1) eerss

(2) woute

(3) e

() ewsoms

As per the Right to Education Act,
2009, maintenance of records of
children upto the age of 14 years

residing within its jurisdiction is the

(1) Mandal Educational Officer
(2) District Educational Officer
(3) Local Authority .

(4) Head Master

DRIy, B30, 2009 (ste, Hos0ast
Q0D 14 BESBHTRe Sciiioy S5 Ko 2R
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One of the following helps a 10-year-

old girl to ride a bicycle efficiently.

(1) Learning and maturation

(2) Maturation and readiness

(3) Learning and readiness

(4) Readiness, maturation and
learning
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People speaking different languages

are living in a village. As per the

inclusive educational policy, this

type of elementary school need to be

established in that village.

(1) Separate schools based on each
language

(2) A single school having sections
for each language

(3) A common school for all

(4) A school with medium of ]
majority speaking languages
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Expand DAT.

(1) Differential Achievement Test
(2) Differential Aptitude Test

(3) Differential Ability Test

(4) Differential Attitude Test

DAT 2 259500508

(1) &50006 evpaaocs 853
(2) &S00S espenrsle 83
(3) &58Q006 2003 B

(4) &saQo58 essdearl 83

As per NCF 2005, the teacher

. shoulduse..........

(1) single textbook for a subject

(2) multiple textbooks for a subject

(3) textbook developed in local
language only

(4) a single textbook for a subject
published by« a state

government only

NCF-2005 (@5o0, &arorosotss

FESHIEI0 T2 &SAFNTD.
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When a baby cries out of hunger or
discomfort and the parents
responding immediately every time,
makes it learn that the parents will

meet all its needs. As a result one of

the following begins to develop in the

baby.

(1) Trust

(2) Autonomy
(3) Initiative
(4) Identity

PR T @55 eyt F80Y Do
BOFE BDSo(Ees oBoIIT, FLY B
ST Stinestd BdEoEe SRty
SIS, BHDBTT TS SBPR IR,
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One of the following is NOT correct
with regard to teaching.

(1) Directional

(2) Motivational

(3) Interesting

(4) Enforcing

5% Bowohod B 308 IS’ 5o
508,
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(3) e85

(4) DS KPES

4]

1.

12.

https://play.google.com/store/apps/details?id=com.testbook.tbapp

BOOKLET @

Creation of learning environment
for a class in the school is the
responsibility of ...........

(1) Teacher

(2) Mandal Educational Officer

(3) Student Leader

(4) Local Authority
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One of the following is Havighurst's

developmental task of adolescence

stage.

(1) Learning sex differences and
sexual modesty

(2) Building a wholesome attitude
toward oneself as a growing
organism

(3) Accepting one's physique and
using one's body effectively

4) Developing concepts necessary
for everyday living
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14.
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Identifying differences between two
stimuliis............

(1) extinction

(2) discrimination

(3) generalization

(4) higher order conditioning

Botss E8isse Koty P, HBowise.

(1) Decesteso

(2) duge

(3) Sruedstenc

(4) &y 50 Do

According to Piaget, language
development occurs rapidly during
this stage.

1) Coﬁ'crete operational

(2) Formal operational

(3) Sensorimotor

(4) Preoperational

DOXFE (BIUe IS e DSWo
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'Freedom of expression'is............

(1) not a child right

(2) a right of mentally healthy
children only

(3) a child right

(4) a right of all school going
children only

PSSO Sy SR e

(1) oo S35y, %
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The feeling of satisfaction that
increases the likelihood of the
sequence of the behaviour to occur
againiscalled.........

(1) law of exercise

(2) law of effect

(3) law of readiness

(4) law of contiguity
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17. Application of bitter agents on

18.

19.

thumb to discontinue thumb
suckinginachildis............

(1) negative reinforcement

~ (2) positive reinforcement

(3) punishment

(4) zero reinforcement

332&65 Seosde0 U8 - eoereasid
BRGNS, %0 Dok VD ST

(1) P&xre HGese
(2) osre Hhese
3) Botss
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The teaching strategy that DOES
NOT involve democratic style.

(1) Group discussion strategy

(2) Project strategy -

(3) Tutorial strategy

(4) Brainstorming strategy
ergo FOD SOACICED ST 0.
(1) SPsoors Bom Yrgro

(2) PESyrgro

(3) S grgio

(4) oG grse

One of the following is an example

for intraindividual differences.

(1) 'A' and 'B' performed a musical
concert in which 'B' excelled

(2) In spite of studying for the same
number of hours, 'A' used to take
more time to learn a concept
than 'B'
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(3) Though having. interest in
academics and games 'A' always
used to excel in games

(4) 'B' used to quarrel always with
peer group members, whereas'A'

used to be calm and quiet

3 300 TRE° $EEOES Prross w

e,
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An individual's personality is the

result of his/her ...........

(1) genetic endowment

(2) child rearing practices

(3) social setup

and

(4) genetic endowment

environmental exposure

28 58 Ao, BarGEoBRL, Bt/
Glook), T4 ©907°0 GBook), HOBO .........c.c...
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21. Controlling one's emotions,
impulses according to the changing
situationsis knownas...........

(1) self-awareness

(2) self-regulation

(3) self-actualization

(4) self-motivation

BrEoBsR) BoHBoe KolorenT, BEBS
EATmeRs, Brets etnds’ ecussio
(1) 0% essomiesd

(2) 0% Jowoses

(8) =& Fzromte

(4) 0% (o

22. Support for learning in problem
solving which allows the student to

grow 1n independence as a learner

(1) zone of proximal development
(2) self-instruction
(3) instructional conversation

(4) scaffolding

BRoTg FEHE® Pgidso Bk HE
B0 TN SdoBome JSNEPIS

(1) S vadsise
(2) dxoiossisd

(3) Seritormags
(4) 3, 0F
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In this method, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

(1) Case study

(2) Experimental

(3) Rating scale

(4) Anecdotal

e BEOE° &reroints Yo Wi
BotsTHes® 3080, EHEHR BRI,
QUpTeReE.

(1) 28 &0

Q) BRFTES 55D

3) QTR W
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Weight of new born baby quadruples

(1) 2 years

(2) 3 years
(3) 1 year
(4) 6 months
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22.
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Controlling one's emotions,
impulses according to the changing
situationsis known as............

(1) self-awareness

(2) self-regulation

(3) self-actualization

(4) self-motivation

BrEaBsR) BohBoe KsoNomoen, S350
SR, BTETe etsds’ dowssio
(1) 3508 e

(2) 0% dowopes

(8) =& Fgromto
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Support for learning in problem
solving which allows the student to

grow 1n independence as a learner

(1) zone of proximal development
(2) self-instruction

(3) instructional conversation

(4) scaffolding
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In this method, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

(1) Case study

(2) Experimental

(3) Rating scale

(4) Anecdotal

1 3508 ererosns Yt Wi
BotsTes® BEBOCY, [HHTHR BSIIBY,
QTR
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Weight of new born baby quadruples

(1) 2 years

(2) 3 years
(3) 1 year
(4) 6 months
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Controlling one's emotions,
impulses according to the changing
situationsis known as ...........

(1) self-awareness

(2) self-regulation

(3) self-actualization

(4) self-motivation

QAPEOBIY f.’aﬁ?gééoe) Fonoeone, B’)séétﬁ
SO, BIETe etid S’ ecussiato
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(2) 2500 dowoipes
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Support for learning in problem
solving which allows the student to

grow in independence as a learner

(1) zone of proximal development
(2) self-instruction
(3) instructional conversation

(4) scaffolding
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In this method, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

(1) Case study

(2) Experimental

(3) Rating scale

(4) Anecdotal

e BEOE° EIeEaing Yoo Sive:
BosTned® 18800, [HHTNN OB, |
QBETES.

(1) %8 etsod0
(2) Bairmes R
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Weight of new born baby quadruples

(1) 2years

(2) 3 years
(3) 1year
(4) 6 months
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26.

W-211/TET-211-EM/TM

'Universal Grammar' as narrated by

Chomsky is ...........

(1) a built in storehouse of rules
that apply to all human
languages

(2) a developed rules that apply to
the languages of all the
creatures of the world

(3) a built in storehouse of rules
that apply to all animal
languages

(4) a built in storehouse of rules
that apply to all children

TR, (S50 CRBE TEER0? SR ...
(1) ey S0 FPRe% eass0cd Do
€500 P DAIMIPE SoDED 8,8
(2) B8ewes® 5y ZIToLE e300
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The process of social maturity

begins at this stage.

(1) Adolescence

(2) Puberty

(3) Childhood

(4) Adulthood

B2 555° oiok HOSED AnoSeHBood.
(1) Savsess

(2) OB STtey 5%

(3) wrog s
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27. A student of class X took same

28.

8]

number of trials for relearning a

lesson. The saving score of student

5 B BUNS w0 B PORSTARUS NI
G50 SRS, (SoNTRyeR SeEirs.
9515050 €98 TPERY KOS v

(1) 50

@) 0

(3) 100

(4) 25

Lip reading is a technique used to
teach children with this disability.
(1) Hearing impairment

(2) Visual impairment

(3) Learning disability

(4) Cerebral palsy

5+ DK Ko Hookd SHow0 DEYR
B8507 &5 B85 ENErATE.

(1) 223&8%0

(2) dse

(3) egiss e

(4) R0y, S50
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29. The basic objective of 'Guidance'

(1) to create awareness among

students about guidance

(2) to help students to make their
own choices so as to enable them

to take decisions independently
(3) to make students to obey elders

(4) toidentify the problems faced by

the students

SIS0 B, (PSS OFO vovverernne
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In continuous comprehensive

evaluations, 'comprehensive'

evaluation of an

individual in the following domains.
(a) Cognitive

(b) Affective

© Psyc‘homotor

1) (@), ®)

2) (), ()

3) (), @

(4) (a), (b) and (c)
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(2) Foterts 1) So0d, &
(3) ok (2) 5B,
(4) Gorod - (3) &2
45. Ado, neg - oD DHBOLNS BB $% @) &%
B¥Hdoes 50. %3 wolfo - &R ¥ 2.
(1) ae; DoraNes (1) =Scke
(2) Towo; Bssw (2) T8
(3) mro; TRt (3) S
(4) robo; Q@ (4) ;eEDEE
46. Qo - & DeeTres Do o 51. ée?;o@.i;é,&;:?, &%, Beagyd - & TS
(1) &dhow A EOAD Sed
2) S%nows (1) &ide
(3) BeoEdotn (2) S
(4) FEDo% (3) =rea

47, SroSisio RNk - Bt Do S ety

e 52. ol - o Bito T BarS STt

(1) 2 (1) €807 s 58 SETREo Siriso

(2) =50 (2) JE5en P 565 BOGPOAL (a3

(3) Grsosa (8) DBip5 0 B SO0 SaFSsED

(4) sSsosn (4) eTtes T8 58 ST Haride
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53. Hocoltoes - &d 8o B+ HoR3 ETFPEE | 57. 20 DEIR, Ao St BBRIETTRS,

(1) Toreriso Sol ' SO DTS EBE6oDS
(2) Sh Sl (1) 559 SEso
(3) WS 500 (2) pBRB -
(4) Eroed el (8) BT RBS
BA. B ool Rk, 20 B — esidness’ (4) Fpeg $8%0
SEESes 58. &HS0 FEEHVY erTEro S0,
(1) orerSoErsam (1) S0
(2) wswoErise (2) Frise
(3) HBgrsRn (3) o8
(4) ooRoEI (4) &5

55. ‘Dt GIsesR DO (B - 3 | 59, Siwoio, SvTvs, BEKS B0,

Bopalties 51 S oFg08 DB oo B9 - 3 502080 Bond
(1) B8, )S - Somrares 200 555
(2) &S (1) Spocsstsd
(3) PXDED (2) SeoERocad B
(4) S5000 2TRptoes (3) e &S
56. ‘o edD HBgE JYHIV BHHemrai0 (4) o 569

TR IQOIR, BB T ST’ | 60.  weies SLHE, ermistiese THTs D

@ g% ADODS FPaR TINE B @O DD BES

(1) 00 Pedb (1) Mg

(2) %5 (2) assrTingnsd

(3) Sl (3) BTN 550

(4) 366 (4) eseadHEd
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61-65: Read the following passage.

If you look around and observe
common people, you'll recognise that,
they too have a big dream. They ignore
it. They deny it. They even bury it. It also
happens due to lack of knowledge and
ignorance about the power of learning.

If you look around and observe
excellent people, you'll recognise that,
they have a big dream. They never ignore
1t, nor do they deny it. If they had done
mistakes in the past, they free themselves
from self-contempt. They live their dream
by extracting more and more knowledge
from the nature, surroundings,
environment, E)ast experience and most

- M 4 7
important ofall ......... their failure. They

act in a more mature way by accepting

that nobody is perfect! There is always a
room for doing things in a better way.

Excellent people are those who face
tremendous setbacks. They don't succeed
because they have an abscence of
problems, but because they have an
abundance of strategies to implement and
rise above setbacks.

Not surprisingly, excellent people don't
blame themselves or others for setbacks
or don't even believe in excuses, they
believe in results and only results. They
know this truth of life that it is a big world
out there and in terms of opportunity, its
getting bigger all the time.

If you are not fulfilled or as
successful or as prosperous as you know
you could be, stop making excuses and

W-211/TET-211-EM/TM

stop blaming your parents, your

education, your surrounding and take

tall responsibility for your circumstances.
Get up and look for situation you want and
if you can't find it, make it.

Now answer the following questions based
on the given passage.

61. Common people do not realise their

dreams due to the ignorance about ...
(1) the power of learning

(2) the power of money

(3) the power of people

(4) the power of light

62. Excellent people live their dream by

extracting from ............

(1) nature, social circle and failure

(2) nature, money and failure

(3) nature, environment and
personal charm

(4) nature, past experience and

failure

-

63. Excellent people...........

(1) never face setbacks

(2) face setbacks

(3) are always perfect

(4) are self-contemptuous

The truth of lifeisin ...........
(1) terms of opportunity
(2) terms of power

(3) terms of people

(4) terms of excuses

64.

65. If you can't find the situation you

want, you haveto........
(1) give up

(2) look around for help
(3) makeit

(4) postpone it

[14]
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66-70 : The following passage contains numbered blanks. Identify the correct option

for each of the blanks from those given against each number.

If possible find a quiet place to study. You. ............... (66) to spend a reasonable
amount of time for home study. Two to three hours on working days will be

................ (67) sufficient if you are in your postgraduate or professional studies.

Thereiszs.&....... (68) of common sense in the proverb ............. (69). Good students
usually have as their friends other good students. Xavier was ........... (70) student
but in standard IX, he began to improve fast. The reason he gave was that

Vincent, who came into his life, was a good student.

66. (1) should 69. (1) birds of same feather flock
(2) need together.
(3) has (2) be a Roman while in Rome.
(4) was (3) do good and be good.
67. (1) u's nally (4) abird in handis better than two
(2) frequently in the bush.
(3) always 70. (1) aindifferent
(4) often (2) the indifferent
68. (1) better (3) much indifferent
(2) enough (4) anindifferent
(3) alot

(4) sufficient

W-211/TET-211-EM/TM [15] Turn Over
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72.
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'Why haven't you gone to school
today?' He said to her.

When you changed the above
sentence into the reported speech,

you will get the following.

(1) He asked her why you hadn't

gone to school today.

(2) He asked her why she hadn't

gone to school today.

(3) He asked her why she hadn't

gone to school that day.

(4) He asked why you hadn't gone
to school that day.

Pick out the correct sentence among

the following.

(1) No sooner had I put the phone

down than it rang again.

(2) No sooner than I had put the
phone down, it rang again.

(3) No sooner than had I put the

phone down, it rang again.

(4) No sooner I had put the phone

down, it rang again.
\

73.

74.

75.

(16]

https://play.google.com/store/apps/details?id=com.testbook.tbapp

BOOKLET @

You must buy a ticket to see the
picture.
Change the above sentence into a

compound form.

(1) If you buy a ticket, you can see
the picture.

(2) Buy a ticket, then you can see

the picture.

(3) Buy a ticket and youcan see the

picture.

(4) Unless you buy a ticket, you

cannot see the picture.

No one can do anything.

This sentence can mean.

(1) Anything can be done

(2) Anything could not be done
(3) Anything is done

(4) Nothing can be done

My family has been living in
Hyderabad for hundreds of years.
Identify the auxillary verb.

(1) Has
() Been
(3) Living
(4) For

Page - 17
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76. Shall I wait till you come? 79. Nick managed to pull through to

The function of the model in the become an international symbol of

4 triumph over adversity.
above sentenceis...........

The underlined word means .......

(1) obligation (1) disability
(2) offer (2) movement
(3) order (3) difficulties

(4) suggestion (4) opposition

] 80. In which of the following wordsis 'H'
77. Iwent tothe station to say good bye

pronounced?

to my grandmother.

(1) Hour
Choose the correct phrasal verb

) (2) Howl

instead of the underlined word.

(3) Honest
(1) See off

(4) Honour
(2) Drop off ;
81. One of the following is NOT a plural

(3) Putoff
form.
(4) Dash off (1) Roses
(2) Boy's
78. Fitness regime should be a part and
(3) Boys
parcel of everyday life.
: (4) Cats
The underlined phrase means .....
(1) dedicated 82. When one is looking up for the

(2) help one anoth departure of the train in the
on other

newspaper, oneis........
(3) livelihood (1) reading
(4) anintegral part (2) looking for information

(3) scanning

(4) skimming

W-211/TET-211-EM/TM [17] ~ Turn Over
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83. 'Curriculum  Vitae' gives | 87. Continuous comprehensive
information about ............ evaluation focusseson .........
(1) the holistic personality (1) process evaluation
(2) the need of the person (2) product evaluation
(3) the waiting ability of the person (8) achievement only
(4) the speaking ability of the (4) basics, evaluation

person

88. The paradigm shift in learning in

84. Presentation of ideas with clarity, N anal Cubtinl o Fram Sl

connectivity and thoroughness 2005 is
) (1) discovery learning
(1) comprehension
: (2) activity based learning
(2) revision
Sl (3) teacher centered learning
(3) comparision

(). cohets , (4) exploratory learning
cohesion

. 85. Frequency and usefulness form the 69.-Sirg teaching 1 SCREuS

basis of one of the following. (1) an approach
(1) Situational approach (2) a technique
(2) Structural approach (3) a method
(8) Grammer translation method (4) a device

(4) Language games
90. Public addressis anexampleof.......

86. Remedial teaching is essential for ... (1) language skill

(1) good learners (2) readiness skill

(2) slow learners ) lingyisticshal

() any lcHrner waig € (4) communicative skill

(4) gifted learners

W-211/TET-211-EM/TM [18]
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PART -1V (a)
MATHEMATICS AND SCIENCE
91. The sum of integers between 50 and | 94.
150 which are divisible by 7 is .........
50 Bos» 150 o e 5oa)§e>68 7
PRcH QLOPOANED .......
(1) 1162
(2) 1100 +
3) 1172+
(4) 1421.
92. Ifthe mean of the set of observations
X3 el , X518 20, then the mean | 95.
of
v s AR T [ 5 Xyoub 40
i1 P
Xy Xy X y X0 TR0 e 20 9005
Xitd, X, k8, 2012, . » X0 +40
TR0 M ... e o
() 38 Fo T2 i;:
3) 42 / te
(4) 44 e
93. If one of the exterior angles of a | 9.
triangle is 105° and the interior
opposite angles are in the ratio 2 - 5,
then the angles of the triangle
are............
(Sgbezo G, 2.5 eiSea0 105° 5800
) 0BT Dsnp Sewen 2 - 5 DT’.:Q@PS‘"
@:6&55 &3 (Dgbe Sewens ... 1s
(1) 30°, 750, 750 : °
(2) 100°, 50°, 30°-
(3) 60° 45° 759
(4) 50° 55°, 75°
W-211/TET-211-EM/TM [19]

If the sum of three consecutive
multiples of 7 is 777, then the

biggest multipleis.............

7 Qoo 03 565 Mordee Suogo 777
90200 S 281030 ...

1) 252 e

2 266. =

(3) 259

(4) 225 «

A room of dimensions 8 m X 5 m has
a varandah all around it. If the
width of varandah is 2 m, then its
areainm?is....,.......

8 . X 5 . Sesen e &S0 Do o
o, &5 D00E Dtse 2 D. eossd o)

Q?"e:go (iﬁ.ib.vﬁs) .........

(1) 30 i

(2) 68 Y / )s
(3) 40 D3 kg\

(4) 18 26

If a shopkeeper marks his goods 20%
above the cost price and allows a
discount of 10% on them, then his
gain percentageis............

&5 QoSTermrtos SR0e (BEed oo
S0 53 20% edsor (%30, d
10% dxéom: (C’t.%‘boeg) Qo) B3 iy

1) 15%
©@) 12%
(3) 10% -
4) 8%
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97. As per the laws of Physics, weight of

an object on the moon is
proportional to its weight on the
earth. If a man of 93 kg weighs
15.5 kg on the moon, then the
weight of a 69 kg woman on the
moon (in kgs) is

G5 TR JOLRTE (5750, WOlloR 2 WD)
2255 0000 FIPRD P et S 2B
eorHesYoeran. 93 86% ety He 1.8
DTRR LY Wk D 15.5 85%0 &ris,
69 38% w5 Ko & 200 B &R 2t
.- (9105
(4) 13.5

(1) 11.57¢

(3) 12.5 b

98. The average weight of Raju, Deepu
and Venkat is 40 kg. Both Deepu
and Venkat have the same weight.
If Raju's weight is 46 kg, then

Deepu's weight (in kgs) is.................

orez, B9 58050 Dexede Siess w0t 40
8., 508050 8, esBe extitges Sarse.
TPe 250 46 3.v. eond 8 20509
\'\) = A2
e ;}(/\v‘:
yP
(2) 39 @ o

@ 37,46

.........

(1) 40
(3) 38
A man walked certain distance. He

covered 2/3" of it at 4 kmph and the
remaining at 5 kmph. If the total

99.

time taken is 42 minutes, then the

total distance (in kms) is

........

100.

W-211/TET-211-EM/TM
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2
2 358 8% BEDS s’ 3 wot 4

W

—
85

8.2, /Hoil B850, WA BrEsacss 5
8.2 /o iisas8c0 SED. T3 SIS
LR 080 42 Qi S0 Hedd B
SEDH oo B0 (8.20.05)
19 @) 6

(3) 12 @) 3.

If a wire bent in the shape of a circle
of radius 25 cm is straightened and
bent in the form of a square, then
the length of the side of a square (in
[Use 7=3.14]

25 0.0, TR I s tand sowed
G DM e T BHGRPT 80T
Do, &2 BEoYSe fhwo S (30.80.08°) ,
[z=3.14] fiz" B L3

) 39.25 2) 29.5 73S0
(3) 39.5 (4) 29.2578-50
b\
Ino . UANABC, 1f DE||BC ‘and
AD
DB = 5 AC=5.6 cm, then AE
(incms)is ....... |
AABC & DE||BC 805> il =§,
DB 5
AC = 5.6 2o.20. @owd AE Son
(?oo.fb.eés) ......... ;
@ 25 @) 2.3
(3) 16.8 (4) 3.4
AL @\P
£
o gL ¥
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103.

104.

105.
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Which one of the following is NOT
a Pythagorean triple?

BB 3" RFROADS (@80 =06,
1) 3,4,5 -

@) 5,12,13 <
@) 9,10, 11+
(4) 8, 15,17 -

=4
If the perimeter of a semicircular
protractoris 54 cm, then its diameter

(in cms) is

(Use IZ'=E)
v

Y TIE Y Fessrdd towg Seb
54 20.20. 033 T w50 (Re.0.08°)

...........

=\ SWU
( 22) I e
B=iznl sl ol e s
7 2 —214;1 i
1) 21 @ 105
x>
3) 27 (4) 138.5
The mnormal human body

temperature is 37° celsius, then the
same temperature in Fahrenheit
scaleis

ST Feries 588 &G 37° wanss
SO 5mi5558° B 557530 S2NS
A1) 98.4° (2) 98.6°

(3) 96.8° (4) 94.8°

Diameter of base and height of a
conical tent are 8 m and 3 m
respectively. If the rate of canvas

cloth is ¥ 70 per square meter, then
the cost of canvas cloth required

(in%)is

107.

/BN

106.
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&8 oo .e;as‘?ﬁ;@) b o0 TR
Q000K e BT 8 Do, Bedokn 3 Bo.
om0 Boko T8k D 19.80.5. 8. 70
900 €3 HOGPBo WO ToHHed T2
P8 (trapes®)

(1) 440

(2) 4400

(8) 4440~

(4) 4447

If A, B, C are any three points of a
plane, then which one of the

following is NOT possible?

A, B, C e 2.5 0069 DT HorEso
Dolispes wawd &+ 3o wad® Fugn
TR?

(1) AB+BC=AC—
(2) AB+BC>ACH
(3) AB+BC<AC
(4) AB+BC=>AC,

"

® /e

, P

The scale of a map is given 1 : 30000.
If two cities are 4 em a part in the
map, then the actual distance

between them is

25 8o 1 : 30000 &,e08% Ackendss.
e35008° Bots> Begeainne Bogsy SRs
4 50.20. 9055 T3 D05 DeEPER ...
(1) 1.2km
(2) 1.2m
(3) 10.2 m
(4) 10.2km
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108. If 25% of 25% of 25% of x is 25, then

109.

110.

i b

W-211/TET-211-EM/TM

the value of 'x' is

2 G0 25% G, 25% GIaoy, 25% Dessd
25 e50205 X Deskd
(1) 1600
(3) 1400

(2) 1500
(4) 1200

If the price of a cooker including
5% VAT i1s T 2,940, then its price
before adding VAT (in%) is

25 105 8 o 5% S8 500 &, 2,940
@WOD W HoNE Bvekd R Y

(er>apes)..........
(1) 2,800 (2) 2,753
3) 2,793 (4) 2,900

If the perimgter of a rectangle is
28 m and its area is 40 m?, then its
length (in meters)is.............
2.5 OF BBoUE) BoeSle 28 2. Moddixs
oo 40 V.. osd T FEY
(2055%)
@) 4

3 8

2 6
4) 10,

If three cubes whose edges measure
3cm, 4 cm and 5 cm are melted and
made into a cube, then the edge of

the new cube (in cms) is

3 230.20., 4 20.20. 0005 5 20.20. 060
SPeden Ko Haris B0 Hodkey ¥0R0d
2.5 5R050:5500:00 HOYTED Texd T 020
S0 (?oo.fb.e:éis)

s ey 60 +($
1 9 @) 8
3) 7 (4) 6 ﬁ

[22
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112. Number of cuboidal soaps of si

113.

114.

4 cm X 3 cm X 2 cm can be placed 1
a cuboidal box of size 12 em X 9 c1

X 6 cm 1S

12 26.55. X 9 2.0, X 6 Do.20. Sode

Ko &5 poovss 2560 Hosndn |
|
4 350.20. X 8 20.20. X 2 20.20. Sesy |

e 5§;’;:3°s1=€5 Seonyw 5::335 ...........
(1) 37 (2) 47
(3) 72 4) 27/

The angle formed between angulal

bisectors of a pair of linear angles

........

SN eo ...

(1) 70° (2) 40°

(3) 110° (4) 90°

The median of a set of 7 distinect

observations is 15. If each of the
largest 3 observations of the set is
increased by 3, then the median of

the resulting set is

7 Do o TR SoGgiEsn 15. ISR
ST D TR 3 Ty X0 Bt

DG TR0 SIS ...
(1) 12 (2) 15
(3) 18 (4) 20

,
]f§ . \.O’b%z/
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115.

116.
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Observe the following statements, in
the order they are given

'11s less than 100

2 1s less than 100

3 1s less than 100

4 is less than 100 -

Therefore all natural numbers are

less than 100'. The type of logic the

sentences presentis ...........

(1) Both intuitive and deductive
logic

(2) Neither intuitive nor deductive
logic

(3) Intuitive logic only

(4) Poor inductive logic

T3 (308 SOSred e (Sest madoted

€1, 100 5o& 850

2, 100 ¥o& 8%

3,100 S0 By

4, 100 %02 8%

QOLNR Sire Sopgea) 100 ¥oil By,

BT BOD BGS® ...

(1) S PRY WOBO0 MK BB

(2) e TR 629,500 10, ifeaskd By,
TPQ o0

(3) Sime: POY B0 ARG

(4) E5pte RIS BEyH0

In teaching Geometry, the correct

way of teaching a theorem is ......

(1) analysis of Hypothesis and
conclusion, followed by synthetic
proof

(2) analysis of Hypothesis and

followed by

synthesis of proof

construction,

1l by A

(23]

(3) analysis of Hypothesis and proof,
followed by synthesis of proof
(4) synthesis of proof, followed by

analysis of construction

P S8, SopoTrd) SRoBEds

(1) é@:o;o o8B ForeEo Glaoy), Jses-
&5 BT OIS D

(2) smcto Bose ATyEse Gl Jses-
&3 BB BOTITHHS

(3) Emmoto MO0 ESBE Gk, Tes
&3 BLITD SOTITISHD

(4) SOBESWBG- s BEITH Joues e

'"The knowledge or skill acquired
through thet‘»study of a topic helps
in acquiring the knowledge or skill
of another topic'.

The Psychologist, who proposed this
principle is .....

(1) Stanford

(2) Froebel

(3) Thorndike

(4) Skinner

‘2.5 305 Gk, eoiivo Dabte THoP
Tl e or Jdesgios, D6 B0
S0k, g BT Dideagios oS3

BEta  BeoBood. T JoErd,
BEFBODD TR0 ..........

(1) 56

@) &Fad

(3) ek

(4) 30
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118. A student teacher, had written the

119.

W-211/TET-211-EM/TM

following statement as specification
of knowledge objective.

'Pupil recalls the formula to find the
surface area of a cone'.

If it has to denote the specification

of understanding objective, then it

should be writtenas..........

(1) recalls the formulae of surface
area of the cone and cylinder

(2) compares the formulae of
surface areas of the cone and
cylinder

(3) draws the diagrams of the cone
and cylinder

(4) solves the problems on the cone
and cylindex; '

&5 GITROh DT, T2 (808 TS &0

0 G0, AT T PO O

B, cBlve TR WS el

B FToert. 30 e o Sestras

SrDoTre0E 308 Aser TR,

(1) %o BeBotin BFsam o, &0B0
ST ST 28 By SPoeresd

(2) B0 SoDaho s oY, &x0Be
DPT S0 Fon T

(3) oMy 0ot AR Gk, e
Adres>

(4) Boxo3p BoB0UD BFHHL BRI
PRI

If learning experiences are
arranged in the decreasing order, of
their effectiveness, then Edger Dale
callitas.........

120.

[24]

https://play.google.com/store/apps/details?id=com.testbook.tbapp

BOOKLET @

(1) tower of learning experiences

(2) square pyramid of learning
experiences

(3) cone of learning experiences

(4) triangular pyramid of learning
experiences

SYITRLTOR, T BeFare entiee
E5008" i508yD, TR JEBEE 50 Heorts.
(1) egigsmsiire oo

(2) eBiSTREETe BB BBt

(3) eEETET Ho5Y

(4) opgETgTe (©ibe: HERots

to
achievement, if the behaviours,

In addition scholastic

interests in games and sports,

literary activities, attitudes are all

so assessed continuously, then the

processiscalled as .......

(1) continuous formative
evaluation

(2) continuous summative
evaluation

(3) continuous comprehensive

assessment

(4) continuous comprehensive

evaluation

FET0 Fods; FESE T Joize
Bogsen ewen $6S° ek, PUES
SUEAREP estants, Ppther Kre bcto
SROH D, &5 BB 7T DS ...
(1) QTcBs douerds OTPSOESID

(2) QBB SoRTe PSS BarcONsHO
(3) oot SRof b

(4) DBoBY S ST EETRO
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121.

122.

W-211/TET-211-EM/TM

The force to be applied by a
machanic on a hydrolic piston of
4 sq cm cross sectional area to lift
an 8 ton truck on the other piston of
2 sq m cross sectional area of a
hydrolic jockis .........

(1) 8kgwt

(2) 1.6 kgwt

(3) 3.3kgwt

(4) 32 kg wt

2 B, 058’ Frreo o oS b
% XL B 8 e (15855 et
&5 R05°08 4 11t o, o et §5$§:;r?vea§o )
TP Cola oo D ESGIPACReND 2920
(1) 8 S.ie.w

©@) 1.6 2.

(3) 3.3 ..

(4) 32 &g

The reason for withdrew of planetary

‘status to Pluto in the 26 general

assembly of TAU is .........

(1) it 1s a dark, cold, dwarf and
distant celestrial object

(2) it has an orbit resembling to that
of a comet

(3) NASA observations proved that
1t is not a planet

(4) it crosses other planetary orbit

TUA 85 26 % Jerties sesisnd® opes®

I 5 Fioits Felotows e

(1) B =¥ %3, Sotldzg, e B0
L0 QTG Jigy ;’:@gﬁw

(2) o0 8y, S ok, 85 550 FD &b

(3) NASA 5620900 &8 2.5 (559500 o5

QETFRoIR
(4) B D X (90 TPeasiioin®

(25]

123. The superiority of a concave mirror

over a plane mirror, convex mirror

or a concave lensis .........

(1) it can form an image of any
characteristic like erect-invert;
virtual-real; magnified-

diminished

(2) unlike others only concave
mirror can form a clear focussed

image on the screen

(3) it is widely used than others in

day-to-day life situations

(4) for any position of the object, it

forms an image on the screen
POL BTHEIR, E0rEstY SHyenoo,
DTS KeoNihoce By 2.5 Hersed 88eahm
RO Mo (o Solan FRoopg®

(1) derdo - o EoSows; QE-0T;
€550~ 505" BootiBS &) L0
o (BSDowR™ Gtk
BSDo2sR08s BT So|B5BowR

(3) DEERB TS’ WATOTVEY A
PSS XD

(4) D5 PBEI00 90 D B&Dew
2380 AGtoisess
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124.

125.

126.

W-211/TET-211-EM/TM

If A is aluminium; B is brass; C is
copper; Gis glass; and Kis kerosene,
the correct ascending order their

specific heats in cal/g°Cis ........

A 5 VOFEIAW0; B- 38¢; C-oh;
G-tees 5300 K o 8695 m 5013
e D3P Jeove wbire Sssws®
(3/e- R0ID) ...

(1) B.C,G AK

(2) GA,C K, B

3) C,B,A G K

(4) A,B,C,G K

The odd term of the following, while
describing term amplitudeis.......
(1) density

(2) pressure

(3) loudness

(4) displacement

508 S80S iSOV woTe esrRtonT Ss
Bol TS Gt eotims ...,

(1) Srose

(2) »&sa0

(3) &8s

(4) oo

The power of a cyclist having 40 kg
weight, while he raises the velocity
of his 40 kg weight bicycle from 3 m/
sec to 5 m/secin 8 seconds is.......
(1) 5.12k watts

(2) 640 watts

(3) 80 watts

(4) 170 joules

127.

128.

[26]
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40 8.7, 25099 w8 285 40 &, grde
EORD 33%5'57?@2 8 i eest 3 . /3. %008
5 0. /2. 5 DoDHED 58 FROBES ...
(1) 5.12 8=,

(2) 6405,

(3) 80=m:5,

(4) 170 &%,

The force acting on a 5 m long
conductor when 2 A electric current
flows through it and 47 magnetic
field observed at 30° angle with the
conductoris..........

5 Q. SRS &5 TS Koow 24 Db
BRIt 03 30° Srao 4 B
SALI0B Fw MlotwdsS irtep
S eee...........

(1) 25N

(2) 20N

(3) 5N

4) 1.6N

If the pOH of an aqueous
hypochlorous acid is calculated as
8.64, the pH value of that solution
185 outees i)

(1) 6.36

(2) 6.36 moles

(3) 5.46 x 104 ions

(4) 5.36

PSS & 2eoend) pOH dessss
8.64 T NeRoDidytss es [rsend) pH Devs
(1) 6.36

@) 6.36375,

(3) 5.46 X 1074 ecxms

(4) 5.36
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130.

131.

W-211/TET-211-EM/TM

129. The quantity of carbon dioxide

evolved during complete
combustion of 23 gm of ethanol is ...
(1) 88 g

(2) 22.4 1it

(3) 44.81it

(4) 3 moles

23 o1 5ESE S0 Smso Dol
DI SRS B B E BOSTEIED ...
(1) 88 [w.

(2 22.4 8.

(3) 44.8 8.

4) 3378,

The maximum number of all orbitals

in 4" orbit of an atom are ...........

2¥ BERFepER 4 5 556° ot ey
e.-s&z)wi@ fitexy 2602p§ ...........

@ 16 =

(2) 32

@) 7

(4) 14

The element that can not be fitin a
Dobereiner triod among the

following is ......

&+ ($oB Boreored® wwdsb e5sost

132.

133.

134.

[27]
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The terms gangue, slag and flux are
related to .......... :

(1) roasting

(2) smelting

(3) calcination

(4) poling

2dres, (Gangue) SSmsoes, (E55*0en
B2 BTN BowoHONID ...........

(1) s

(2) ProSes

(8) groxstean

(4) SDoh

Among the following, which makes
us to recognise the importance and
conservation of biodiversity is ......
(1) Biology

(2) Physics

(3) Geology

(4) Chemistry

BoB 38 &5 P (DTTISH, HOREEITD
B8 OB ...

(D) Es=%0

2) & RS

(8) gy Zwigo

(4) 5FawS 7o

The largest cellis .........
(1) nerve cell

(2) egg of an Ostrich
(3) dermal cell

(4) cell of an elephant

(1) =& 3020
2) ea@_.;«S Sted)
(3) & se20
(4) d%oi> Seno

Turn Over -

Page - 28


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

https://testbook.com/

135.

136.

W-211/TET-211-EM/TM

In the following statements, the

FALSEoneis........

(1) The size of the organism depends
on the shape of the cells in it.

(2) The size of the organism does not
depend on the sfmape of the cells
in it.

(3) The size of the cell is related to
its function.

(4) The size of the organism depends

on the number of cells in it.

5+ 3R TS EBBTS ...

1) éb.cﬁ;ﬁb $oEFee &2 206% Nrvo
e5SP80 08 TSGR,

(2) £ Dok, woaFeo es £AED ewo
@ISO QO eSTPEHES.

(3) Heso Gy, 50Pes0 @98 ABESD o
D SFSE ook

4) £2 B0, $0aFee es 22D Sero
;’:0335 :._:_ STPOSEB08.

An example for short night duration
plant. :

(1) Maize

(2) Cotton

(3) Soyabean

(4) Wheat

) TS BoLE ETTSE3 ...
1) £y

2) =&

(3) SFair D&

(4) R¥sose
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137. The correctly matched one in the

138.

139.

(28]

following is .........

(1) Taproot — parallel venation

(2) Taproot — reticulate venation

(3) Fibrous roots — reticulate
venation

(4) Fibrous roots — dicot

(800 T3 S0P e BRLBRESS .......
(1) 6TX0> - S5ToBs & doTgEvo
(2) 803w - PO T30 FeSvo
(3) 50y - worTE HDe o
(4) D - B Deves

Bone and muscle are joined together

(1) tendons (2) ligament

(3) joint (4) cartilage
Joteiss SotTroS 05D ...

(1) Bozd (2) RS

(3) Sty (@) spood
Match the following.

A) Honeybee 1) Aquéculture
B) Silkworm 2) Apiculture
C) Fish 3) Sericulture
2D ST,

A) 3 Sreo 1) esEed

B) Sedptoies  2) a&gébs

C) Ssen 3) 26506

(1) A—3,B—1,C—2
@/ &-3B-26-1
@JA—2/B-3 C-1
4 A-1,B-2,C_3
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140.

141.

142.

Conversion of milk to curd is due

(2) virus
(3) protozoa
(4) bacteria

PO BN SIOND +oevecneec

(1) 2o

@ 5

(3) BFSEe

(4) eS80

The roots of the plant that have the
'Rhizobium' bacteria is....... e
(1) curry leaf

(2) beans

(3) banyan

(4) mango

EDAL? &5 LPIOAP &ots D0 KOS

(1) 555
2) D8
(3) =0

(4) SPE

Match the fpllowing.

A) Producers
B) Consumérs

C) Decomposer.s

1) Protozoans
2) Blue green algae
3) Fungi
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BoB TR eBBBoERD.
A) eondoies | 1) BSwaren
B) d0arnmrtoes | 2) QO eskbin Booren
C) dxHswes | 3) 2ogres =

W-211/TET-211-EM/TM

1) A-2,B-3,C-1
@2 A-3,B-2,C-1
3 A-1,B-3,C-2
4) A-2,B-1,C-3

143.

144.

(29]

1) A-2,B-3,C-1

@2 A-3,B-2,C-1

3 A-1,B-3,C-2

4 A-2,B-1,C-3

The correct food chainis ........

(1) Insects —Plants — Rabbit —
Deer

(2) Rabbit —»Plants —»Deer —» Fox

(3) Carrot —Rabbit —Cow—
Tiger

(4) Small insects — Frog —Snake
— Peacock

(1) &omeen —)féw%e > 0000 —> 2o

(2) HoBew —» oK e — B8 —> DY,

(3) S — BcTes - &) > DO

(4) IR HoTe0 — B3y —> FED >
L)

'Natural selection' the famous

theory of evolution was proposed

(1) Jean Baptiste Lamarck

(2) August Weismann

(3) Charles Darwin

(4) Mendel

(S D30’ B e BOETR IFOBRD
BOFROIO TR ovvveven.

(1) &S ey oarg,

(2) estER IS

(8) TR

(4) oot
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145.

146.

W-211/TET-211-EM/TM

The scientist who discovered that
lightening consists electricity.

(1) Benjamin Franklin

(2) Galvami

(3) Andre Ampere

(4) Georg Ohm

A" &t Db el By TR0
(1) Bood @reds

(2) ™o

(3) eao|tss esea%d

@) =bed

The academic standard not belongs

to science according to new science

textbooks. >

(1) Asking queSEi(:)fiTé'::

(2) Experimentation

(3) Communication through model
making

(4) Manipulation

SFES TH TP PEHITO B0 (8od

TRE OB R BowoRods ATEaree

Segso.

(1) @yonio

(2) Barmres oo

(3) SRarare DoDo THOP PR
Dose

(4) SdorpsNo

147. The three dimensional teaching aid

148.

[30]

among the following is .........
(1) television

(2) computer

(3) blackboard

(4) specimen

BB AE° (Berodah SHTexseso

1) 23028

(2). sorgead

(3) dpww

(4) sotns

A teacher, "washed the wound with
plenty of water and then covered the
wound with a cotton dipped in silver
nitrate solution" as a first aid for the
accident occurred in laboratory.
Then the type of accident is...........
(1) burns from phosphorous

(2) burns from alkalies

(3) burns from acids

(4) acid in eye

¥ BAFNTeS” 2ORS [HHrte % (565
DI RO TPabo DS TSR,
BT o0 JES [Erseeos’ wwed Eras
TRORR) B 6. @200 8 DoPoed (S
&ot00d.

(1) 5t He 5909 ek

(2) Foro S 9IS oo

(3) esire HoR IS roko

(4) 505’ esisoo dtseso
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149. Learning about different food habits

of birds during a field visit to a birds
sanctuary Ais this type of learning.
(1) Learning by doing
 (2) Learning by observation

(3) Learning through peer group
(4) Learning by reading

2.5 DR 1§ SoUy Soomd depdowte
S50 e woTresn 000 Beoaoshote
254 BERSS e23590 eipBoD

(1) Sowio oo SEnSsto

(2) 50%8outo T atinS oo

(3) 50,0 1)0t0 THT S Siete
(4) B0 THT IR S0te
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150. Which of the following is NOT a

purpose of the formative

evaluation?

(1) To decide the rank of the student
in a class.

(2) To make necessary changes in
teaching strategies.

(3) To get feedback about learning
student at different stages of
teaching.

(4) To improve the quality of

teaching learning process.

8oB TS° DB Joryerdyl Boraresso

G208, Q209 é'é;?%g e

(1) mbwggmu%ém:}w.

(2) % Yrstes® eSvtRos Brbne
Dosise.

(8) S%98° 205 EE® IP By,
LSO B0230500 B8P Poito.

(@) SrgEsd BBAS® e
Dorodoidiio.

(31]
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